
Wie lautet die fehlende Zahl (bis 200 000)?

Aufgabe 1

1. 65 388 +     =  95 772

2. 68 178 +     =  89 218

3. 50 045 +     =  61 347

4. 90 814 +     =  167 897

5. 88 230 +     =  135 914

6. 96 303 +     =  141 670

7. 90 318 +     =  106 202

8. 75 058 +     =  105 185

9. 79 856 +     =  136 813

10. 91 061 +     =  116 481

Aufgabe 2

1. 98 285 +     =  180 699

2. 96 969 +     =  136 082

3. 32 555 +     =  47 580

4. 97 488 +     =  175 514

5. 82 884 +     =  159 559

6. 85 783 +     =  134 011

7. 91 757 +     =  118 707

8. 25 931 +     =  44 741

9. 59 120 +     =  80 188

10. 94 832 +     =  115 415

Aufgabe 3

1. 37 210 +     =  50 979

2. 99 112 +     =  177 574

3. 86 129 +     =  148 824

4. 49 619 +     =  83 294

5. 77 779 +     =  143 496

6. 56 568 +     =  76 354

7. 44 362 +     =  83 062

8. 78 955 +     =  119 426

9. 70 966 +     =  133 550

10. 98 976 +     =  160 307

Aufgabe 4

1. 90 200 +     =  178 381

2. 77 080 +     =  103 297

3. 38 010 +     =  69 608

4. 66 785 +     =  126 944

5. 43 002 +     =  57 330

6. 98 742 +     =  145 350

7. 81 167 +     =  104 601

8. 81 450 +     =  127 923

9. 85 337 +     =  159 697

10. 93 125 +     =  155 149
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Wie lautet die fehlende Zahl (bis 200 000)?
| ANTWORTEN

Aufgabe 1

1. 65 388 +  30 384  =  95 772

2. 68 178 +  21 040  =  89 218

3. 50 045 +  11 302  =  61 347

4. 90 814 +  77 083  =  167 897

5. 88 230 +  47 684  =  135 914

6. 96 303 +  45 367  =  141 670

7. 90 318 +  15 884  =  106 202

8. 75 058 +  30 127  =  105 185

9. 79 856 +  56 957  =  136 813

10. 91 061 +  25 420  =  116 481

Aufgabe 2

1. 98 285 +  82 414  =  180 699

2. 96 969 +  39 113  =  136 082

3. 32 555 +  15 025  =  47 580

4. 97 488 +  78 026  =  175 514

5. 82 884 +  76 675  =  159 559

6. 85 783 +  48 228  =  134 011

7. 91 757 +  26 950  =  118 707

8. 25 931 +  18 810  =  44 741

9. 59 120 +  21 068  =  80 188

10. 94 832 +  20 583  =  115 415

Aufgabe 3

1. 37 210 +  13 769  =  50 979

2. 99 112 +  78 462  =  177 574

3. 86 129 +  62 695  =  148 824

4. 49 619 +  33 675  =  83 294

5. 77 779 +  65 717  =  143 496

6. 56 568 +  19 786  =  76 354

7. 44 362 +  38 700  =  83 062

8. 78 955 +  40 471  =  119 426

9. 70 966 +  62 584  =  133 550

10. 98 976 +  61 331  =  160 307

Aufgabe 4

1. 90 200 +  88 181  =  178 381

2. 77 080 +  26 217  =  103 297

3. 38 010 +  31 598  =  69 608

4. 66 785 +  60 159  =  126 944

5. 43 002 +  14 328  =  57 330

6. 98 742 +  46 608  =  145 350

7. 81 167 +  23 434  =  104 601

8. 81 450 +  46 473  =  127 923

9. 85 337 +  74 360  =  159 697

10. 93 125 +  62 024  =  155 149
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